Unit 3 Lecture 1 Slide 30


The current slide shows the relationships between the entities student and course.  Using the conventions explained in the previous slides, we could read these relations as follows:

The relationship from student to course is read by saying "each student may be enrolled in one and only one course".   Notice that the optionality is optional as indicated by the broken line and the degree is one and only one due to the absence of crowsfoot.

From course to student the relationship is read by saying "each course may be taken by one or more students".  The optionality is optional as indicated by the broken line and the degree due to the presence of the crowsfoot "is one or more".

